e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




—
sy L and

AGILA

AGILA

OPEL
(A) 2000-2007
.|
OP-19178 OP-19179
Denge Kolu Denge Kolu ==
Arka Sagd Arka Sol
9214829 9214832
OP-13173 OP-12171
Rot Mili Rotbasi
On On
M12x1,25-L=239.8mm M12x1.25
4883086G00 4705716
OP-16175 OP-16176
Rotilli Salincak Rotilli Salincak
On Alt On Alt
Ch.1G075422-> L=294,6mm Ch.->G075421 L=284mm
4705742 96316765
OP-18175K OP-18176K
Salincak Kiti Salincak Kiti
On On
Ch.1G075422-> L=294,6mm Ch.->G075421 L=284mm
4705742 96316765
OP-20723
Salincak Burcu
On Altlg
9210270

(B)

2007-2014

SZ-13433 SZ-12431
Rot Mili Rotbasi
On On
M12x1,25-L=305mm M12x1,25
4883063J00 48810M68K00
SZ-11435 SZ-16438
Rotil Rotilli Salincak
On On Sag Alt
D=@16,5mm 4708299
4708299

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

4

info@parsrot.com



Rot sy

= [and OPEL
AGILA (B) 2007-2014
|
SZ-16439 SZ-14437
Rotilli Salincak Z-Rot
OnSolAlt  On I
A 4708300  L=300mm B
4709702
| |
SZ-16438N SZ-16439N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
4708299 4708300
| |
OP-20613 OP-20612
— Salincak Burcu Salincak Burcu
Alt Orta
4708299 4708302
ANTARA 2006-2015
|
CH-16609 CH-16608
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
C96819161 C96819162
o)
|
CH-12601 CH-14606
Rotbasi Z-Rot
On On Sag ’——b
M14x1,5 L=286mm
C96626667 C96626248
|
CH-14605 CH-14607
Z-Rot Z-Rot
Arka Oﬂ Sol F=ﬁ
L=167mm L=286mm
96626150 C96626247
|
CH-11604 CH-20240
Rotil Salincak Burcu
On Alt Orta
C96852964 C96819162

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 5 info@parsrot.com



Rot sy

== Land OPEL
ANTARA 2006-2015
|
CH-20241
- Salincak Burcu
OnDig
. C96819162
(B) 1975-1981
|
OP-12100 OP-11101 _
) (@
Rotbasi Rotil
On On Ust .
M14x1,5 310815 ‘
324120 ==
|
OP-11102
Rotil
On Alt
352819
(C) 1981-1988
OP-11105 OP-16225
Rotil Rotilli Salincak
On Alt On Sag Alt
1603167 352040
OP-16226 OP-16225N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
352039 352040
OP-16226N OP-12202
Rotilsiz Salincak Rotbasi
On Sol Alt On Sag
352039 M16x1,5Lht
7846485
OP-20111 OP-20114
Salincak Burcu Salincak Burcu
Orta Onig
90157161 90288232

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

6

info@parsrot.com



Rot sy

== Land OPEL
ASCONA (C) 1981-1988
|
DW-20124 OP-20119
N Salincak Burcu Salincak Burcu £
On Sag Altig On Dig !
353460 90445565
OP-20564 OP-20344
Salincak Burcu Salincak Burcu
On Arka
90189050 90305431

ASTRA (F)

OP-20387 OP-20387A
Salincak Burcu Salincak Burcu
Onig Onig

352348 90495046
OP-20115 DW-20124
Salincak Burcu Salincak Burcu

On Dis On Sag Altig
90268463 353460
OP-20114 OP-12401
Salincak Burcu Rotbasi
Onig On Sag
00288232 M16x2Lht
90373520
= OP-12402 OP-16425
Rotbasi Rotilli Salincak
On Sol On Sag Alt
M16x2Rht 352192
90373519
OP-16426 OP-16426N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sol Alt
352193 352193

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land OPEL
ASTRA (F) 1991-1998
OP-14408 OP-14409
‘ Z-Rot Z-Rot
-y D=@17mm-L=83.5mm D=@21mm-L=84mm
90278577 90278586
|
OP-16425N OP-14410
Rotilsiz Salincak Z-Rot
On Sag Alt On
352192 WithSilentBlock L=85mm
90495045
|
O OP-11105
= Rotil
: On Alt
1603167
(G) 1998-2004
|
OP-13452 OP-12451
Rot Mili Rotbasi &
On On w
TrwSteering M14x1,5-L=280mm Only:DelphiSteering M14x1,5Rht i&'“"_
9118128 1603214
|
OP-11405 OP-12451A
Rotil Rotbasi &
On On -
D=@18mm Only:TrwSteering M14x1,5Rht i&'"’*"‘"
352830 1603215
|
OP-16445 OP-14450
Rotilli Salincak Z-Rot
OnsSag At  On %
90496040 Plastic L=300mm
90498745
|
OP-16446 OP-14450A
Rotilli Salincak Z-Rot N
On Sol Alt On '
90496039  VetalType
90498745

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

8

info@parsrot.com



Rot sy

mw Land OPEL
ASTRA (H) 2004-2009
OP-14450A OP-13463
= Z-Rot Rot Mili
On On
MetalType Qé]'%{;,’-ﬁ?{?ﬂgg%%ﬂrﬁﬂsp-18:19i“CWh
90498745 93181230
OP-13468 OP-13463K
Rot Mili Rot Mili Kiti
On On
TRWSteering 93189669
93191526
OP-12461 OP-14450
Rotbasi Z-Rot
On Sag On
M14x1,5Rht Plastic L=300mm
1603288 90498745
OP-12462 OP-16465
Rotbasi Rotilli Salincak
On Sol On Sag Alt
M14x1,5Rht 352030
1603289
OP-16466 OP-16465N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
352029 352030
OP-14467 OP-11405 <
Z-Rot Rotil
On On
Only:IDSSispansionSist. L=300mm D=@18mm
350613 352830
OP-13452 FT-20116
Rot Mili Salincak Burcu
—— e On Onig
TrwSteering M14x1,5-L=280mm 4566899
9118128

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

ASTRA

(H)

OP-20531
Salincak Burcu
OnDig

352324

(J)

BU-20250 OP-14517
Salincak Burcu Z-Rot
On Dis On
352491 C13219141
OP-12511 OP-13484
Rotbasi Rot Mili
On On
13286686 Type:POCNJO M16X1,5-L=288mm
1609029
OP-14516 OP-16489
Z-Rot Rotilli Salincak
On On Sol Alt
350618 352106
OP-16488 CH-20222
Rotilli Salincak Salincak Burcu
On Sag Alt On Dig
13334023 352491
BU-20205
Salincak Burcu
Orta
352866
(K)
OP-13523 OP-12521
Rot Mili Rotbasi
On On Sag
13464344 39008083

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

OPEL
2004-2009

2009-2015

2015 after

parsrot.com

10

info@parsrot.com



Rot sy

= [and
ASTRA (K)
OP-14527 OP-12522
Z-Rot Rotbasi
On Sol On Sol
A=30TMM 39008084
39001003
OP-14526 OP-201067
Z-Rot Salincak Burcu
On Sag On Alt Dig
A=S0TMM 39021473
39001004
OP-201068 OP-11525
Salincak Burcu Rotil
On Altig On Alt
39021473 39021473
OP-16528 OP-16529
Rotilli Salincak Rotilli Salincak
On Sag On Sol
39021473 39021472

OP-13533 OP-12531
Rot Mili Rotbasi
On  OnSag
Forvehicleswithpowersteering 13354540
1609187
OP-12532 OP-14536
Rotbasi Z-Rot
On Sol On Sag
13354538  Ony:GTC L-290MM
350193
OP-14537 BU-11155
Z-Rot Rotil
On Sol On Ust
Only:GTC L-250MM 13258056
350192

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 11

2015 after

info@parsrot.com



Rot sy

mw Land OPEL
ASTRA-ZAFIRA 1998-2004
|
FT-20116 OP-20117
Salincak Burcu Salincak Burcu =
Onig On Dig
4566899 352365
OP-20343
Salincak Burcu
Arka
- 5402634
CALIBRA (A) 1988-1995
|
OP-14410 OP-16425N
Z-Rot Rotilsiz Salincak N
On  OnSag Alt
WithSilentBlock L=85mm 352192
90495045
OP-14409 OP-14408
Z-Rot Z-Rot
On On
D=@21mm-L=84mm D=@17mm-L=83.5mm
90278586 90278577
|
OP-16426N OP-16426
Rotilsiz Salincak Rotilli Salincak
On Sol Alt On Sol Alt
352193 352193
OP-16425 OP-12402
Rotilli Salincak Rotbasi
On Sag Alt On Sol
352192 M16x2Rht
90373519
OP-12401 OP-11105
Rotbasi Rotil
On Sag On Alt
M16x2Lht 1603167
90373520

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

OPEL

—————
CHEVETTE 1975-1985

OP-13506 OP-12501
Rot Mili Rotbasi
On On
M14x1,5-L=222mm M14x1,5Rht
8984060 900040801
OP-11502 OP-11505
Rotil Rotil
On On Alt
90032492 7329482

COMBO (B)
OP-13143 OP-13147
Rot Mili Rot Mili
" ] On On
PowerSteering M12x1,25-L=278mm ManuelSteering M12x1,5-L=322mm
322158 322155
- OP-12141 OP-16146N
Rotbasi Rotilsiz Salincak
On On Sol Alt
MI215 53520118
324066
OP-16145N OP-16146
Rotilsiz Salincak Rotilli Salincak
@ OnSagAlt  On Sol Alt
5352012S 5352011
OP-16145 OP-11142
Rotilli Salincak Rotil
@. OnSagAlt  On
5352012 ~ D=215mm
90539896
Z-Rot
‘_=_‘ On
Only:MexicoType L=243mm
5236823

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

1993-2000

e
dlﬂt:;-.
.%ﬁ

parsrot.com

info@parsrot.com



Rot sy

= Land OPEL
COMBO (C) 2000-2006
OP-14411 OP-11152
Z-Rot Rotil
On On
Only:MexicoType L=243mm D=@16mm
5236823 9196394
OP-16155 OP-16156
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
352063 352061
OP-16155N OP-16156N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
352042 352041
|
OP-13110 OP-13153
Rot Mili Rot Mili
On On ———{
REPERCdiomm MR8 o999
1603843 26087867
|
— OP-12111
I Rotbasi
On
M12x1,5Rht
324042

19721977

| |
OP-12701 OP-12702
@ Rotbasi Rotbasi P
W On Sol On Sag
T M14x1,5Lht M14x1,5Rht
324112 324113
|
f— OP-11703 OP-11704
i Rotil Rotil
@ On On Alt
w 310811 Ch.No61161024> D=@17mm
352820

( |

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
COMMODORE 1977-1986
|
OP-12801 OP-12802
- Rotbasgi Rotbasi P
_-_*% On Dis Onig @_—__—
iy M14x1,5Rht M14x1,5Lht eneg o
324118 324117
| |
- OP-11803 OP-14810
¥ Rotl  Z-Rot
' On On 4 K
‘ 352821  L=195mm
902365577
CORSA (A) 1982-1993
| |
. OP-12111 OP-16126N
§i Rotbasi Rotilsiz Salincak
On  OnSol Al —
M12x1,5Rht 352043S
% : 324042
| |
OP-13113 OP-16125
Rot Mili Rotilli Salincak
—— On  OnsSag Al ===
M12x1,5Rht-L=296mm 352044
322149
| |
OP-16126 OP-16125N
Rotilli Salincak Rotilsiz Salincak
_ OnSolAlt  On Sag Alt —
352043 3520448
| |
OP-11112 CH-20109
2 Rotil Salincak Burcu N
g, On Orta \":':
> D=015mm 95170152
1603187
|
OP-20346
Salincak Burcu
Onig
90445098

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



(B)

OPEL
1993-2000

13111

OP-16146N OP-11142
Rotilsiz Salincak Rotil
On Sol Alt On
5352011~ D=915mm
90539896
OP-16146 OP-16145N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
5352011 5352012S
OP-14411 OP-12141
Z-Rot Rotbasi
On On
Only:MexicoType L=243mm M12x1,5
5236823 324066
OP-13147 OP-13143
Rot Mili Rot Mili
On On
ManuelSteering M12x1,5-L=322mm PowerSteering M12x1,25-L=278mm
322155 322158

(B)73,78,79

|

1999-2000

. OP-12111 OP-13113
§i Rotbasi Rot Mili
On On
M12x1,5Rht M12x1,5Rht-L=296mm
%5 e 2 324042 322149
OP-16136N OP-16135N
Rotilsiz Salincak Rotilsiz Salincak
N OnSolAlt  On Sag Alt
3520038 352003S
OP-16136 OP-11112
Rotilli Salincak Rotil
N OnSolAlt  On
352003 D=@15mm
1603187

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

1

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
CORSA (B)73,78,79 1999-2000
|

OP-16135

Rotilli Salincak

@ On Sag Alt

352002

(C) 2000-2006

OP-11152 OP-16156

|
Rotil Rotilli Salincak
On On Sol Alt
D=@16mm 352061
9196394
|

OP-16155 OP-16156N
Rotilli Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
352063 352041

OP-16155N OP-14411

Rotilsiz Salincak Z-Rot

|
On Sag Alt On ‘
352042 Only:MexicoType L=243mm
|

5236823

OP-13151 OP-12961
Rot Mili Rotbasi
On On
CH:43000001/44000001-> C=M14X1.5 SouthAmericaMarket
93192420 93296756

OP-12111 OP-13153
Rotbasi Rot Mili
On On
M12x1,5Rht &ng?%gﬁ’é’é’?@ﬁ;‘ngggggg

324042 26087867

OP-13110
Rot Mili

On

QP%TPERE oo

1603843

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 17 info@parsrot.com



—
sy L and

OPEL

(D)

2006-2014

OP-20651 OP-16186
o Salincak Burcu Rotilli Salincak
OnDig On Sag Alt
352864 55703231
OP-16187 OP-16186N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
55703230 55703231
OP-16187N  AF-20623
Rotilsiz Salincak Salincak Burcu
On Sol Alt Orta
55703230 55703232
OP-13183 FT-12482
Rot Mili Rotbasi
o e — On On Sol
M14x1,5-L=289mm M14x1,5Rht
93189022 1609457
— FT-12481 FT-11485
> Rotbasi Rotil
E On Sag On
M14x1,5Rht 51783057
1609458
FT-14480
Z-Rot
F_%o N On
@ L=300mm
50515276

(E)

2014 after

FT-11485
Rotil

On

51783057

FT-12481

Rotbasi

On Sag
M14x1,5Rht

1609458

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land OPEL
CORSA (E) 2014 after
|
FT-12482 FT-13483
® Rotbasi Rot Mili
onsol  On
M14x1,5Rht M14x1,5Rht-L=295mm
1609457 9944452
] |
AF-20623 OP-16187N
Salincak Burcu Rotilsiz Salincak
Orta On Sol Alt
55703232 55703230
] |
OP-16186N OP-16187
N Rotilsiz Salincak Rotilli Salincak
"“": OnSagAlt  On Sol Alt
- 55703231 55703230
| |
OP-16186 OP-14346
Rotilli Salincak Z-Rot
On Sag Alt On
55703231  L=310mm
350233
| |
OP-20651
Salincak Burcu
On Dis
352864
CORSA (Utility) 2003-2010
| |
CH-20292 CH-20291
Salincak Burcu Salincak Burcu
OnDis On Sag Altig
93188303 352310
| |
OP-14411 CH-13703
Z-Rot Rot Mili =
‘_=_‘ On On
Only:MexicoType L=243mm M14X1,5-L=275mm
5236823 93388624

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land
CORSA (Utility)
OP-12140 OP-18150
N Rotbasgi Salincak Tamir Kiti
Oon  On
I"‘c-\‘ & M14x1,5 Only:MexicoType
.
OP-16155 OP-16156
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
352063 352061
.
b OP-11152
“ ) Rotil
- ' On
- D=@16mm
e 9196394

OPEL

2003-2010

(B) 1993-2000
|
CH-20110 OP-20346
Salincak Burcu Salincak Burcu
Orta Onig
90445097 90445098
CORSA-COMBO C 2000-2006
| |
CH-20291 CH-20292
Salincak Burcu Salincak Burcu
On Sag Alt ig OnDis
352310 93188303
CH-20292A OP-18150
Salincak Burcu Salincak Tamir Kiti
ic On
352310 Only:MexicoType
1999-2000
|
CH-20109

Salincak Burcu

Orta
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsro\tbom-ﬂ:’

90170152

20

info@parsrot.com



Rot sy

mw Land OPEL
CORSA-TIGRA 1999-2000
|
OP-20346
- Salincak Burcu
Onig
90445098
(A) 1992-1998
|
! IS-11505 1S-12501
Rotil Rotbasi
On Ust Onig
D=@17,5mm M14x1,5Rht
894472255 94419408
|
1IS-12502 1S-11517
.’ Rotbas! Rotil
On Dis On Alt
M14x1,5Lht 04459465
8944194091
|
OP-14949 OP-14950
Z-Rot Z-Rot
H On Sol On Sag
) L=150mm L=150mm
5352019 5352020
FRONTERA (B) 1998-2004
|
OP-14950 OP-14949
Z-Rot Z-Rot
On Sag On Sol H
L=150mm L=150mm )
5352020 5352019
|
OP-11955 OP-12951
Rotil Rotbasi @
On On -
Only:DTI D=@17,6mm M14x1.5 N
94374424 97184821 :
|
IS-11507 1S-11505 !
Rotil Rotil
On Alt On Ust
894450463 ~ D=I17.5mm
894472255

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 21 info@parsrot.com



—
sy L and

FRONTERA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

OPEL
C16 2015 after
|
OP-13933
Rot Mili
On
95371542
1st Gen 2008-2017
OP-14514 OP-14516
Z-Rot Z-Rot
Arka On
444081 350618
CH-13336 OP-12511
Rot Mili Rotbasi
On On
2.4&2.5L.With19wheels. 13286686
1609183
BU-11155 CH-13333
Rotil Rot Mili
On Ust On
13258056 1609181
OP-12542 OP-12541
Rotbasi Rotbasi
On Sol On Sag
withperformancepkg withperformancepkg
13272001 13272002
OP-14517 OP-14515
Z-Rot Z-Rot
On Arka
C13219141 444087
OP-14510 BU-20205
Z-Rot Salincak Burcu
On Orta
13282833 352866

parsrot.com

22

info@parsrot.com



—
sy L and

INSIGNIA

1st Gen
OP-20214 OP-13513
Salincak Burcu Rot Mili
OnDig Onig
352868 M16x1,5-L=309mm
6606030
OP-16518 OP-16519
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol
352870 352869

OP-11290

Rotil

n
* Bu belgede kullanilan arag marka,lrﬂnodﬂe(l,1 I/cingo, OEM numaralari, vb. bilgiler referans amagli kullaniimistir.
D=4 mth

OPEL

2008-2017

INSIGNIA 2016 after
| |
OP-13563 OP-14566
— Rot Mili Z-Rot —

On On Sag
23449526 84077103
OP-14567 OP-12562
— Z-Rot Rotbasi
On Sol On Sol
84077102 23449522
OP-12561
Rotbasi
On Sag
23449523
KADETT (B) 1968-1973
| .|
OP-11285
Rotil
On
Kadett(B)
352814
(C) 1973-1979
.|

parsro\tbom-ﬂ:’

23
A111C6012F

info@parsrot.com



—
sy L and

KADETT

OPEL

1979-1981

Forerery,
R

OP-20564 DW-20215
Salincak Burcu Salincak Burcu
On Orta
90189050 90193117
OP-12301 OP-12302
Rotbasi Rotbasi
On Sag On Sol
1979-1981 M16x1,5Lht 1979-1981 M16x1,5Lht
90094763 90094762
OP-11303 DW-2065
Rotil Salincak Burcu
On Arka
90094792 90235042

(D)

1981-1984

i

1984-1991

OP-12308 OP-11203
Rotbasi Rotil
On Sag On
1982-1984 M16x1,5Lht 90375505
90140433
(E)
OP-11203 OP-12202
Rotil Rotbasi
On On Sag
90375505 M16x1,5Lht
7846485
OP-16326 OP-16325
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
96218397 96218398
OP-12201 OP-16326N
Rotbasi Rotilsiz Salincak
On Sol On Sol Alt
M16x1,5Rht 06218397
90140007

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land OPEL
KADETT (E) 1984-1991
|
OP-16325N DW-20215
Rotilsiz Salincak Salincak Burcu
On Sag Alt Orta
96218398 90193117 _
| |
OP-20564 OP-20344
N Salincak Burcu Salincak Burcu
:""f’" : “. On Arka
\ ' 90189050 90305431
| |
DW-2066
Salincak Burcu
OnDig
90235040
KARL C16 2015 after
|
OP-12971 OP-12972
— Rotbasi Rotbasi
On Sag On Sol
95371539 95371538
OP-11984 OP-14970
Rotil Z-Rot
On On
95368368 95167261
OP-13933
Rot Mili
On
95371542
(B) 1975-1981
|
OP-11102 OP-11101 _
. ) (@
Rotil Rotil
On Alt On Ust "
352819 310815 :

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

25

info@parsrot.com



Rof s
= [and OPEL
MANTA (B) 1975-1981
|
OP-12100
Rotbasi
On
M14x1,5
324120
MANTA (C) 1981-1988
| |
- OP-11105 OP-16226
o= Rotil Rotilli Salincak
' On Alt On Sol Alt
' 1603167 352039
| |
OP-16225 OP-16226N
Rotilli Salincak Rotilsiz Salincak N
OnsagAlt  On Sol Alt \:‘:
352040 352039
| |
OP-16225N OP-12201 >
P Rotilsiz Salincak Rotbasi E !
OnsagAlt  On Sol L
. ; asp0s0  M16x1.5RNt y
- 90140007 : |
| .|
@ OP-12202
| Rotbasi
i On Sag
[ M16x1,5Lht
; . 7846485
MERIVA (A) 2003-2010
|
OP-14411 CH-20292
Z-Rot Salincak Burcu —
On On Dis
Only:MexicoType L=243mm 93188303
5236823
|
CH-20291 OP-13160
Salincak Burcu Rot Mili —
On Sag Altig On
352310 ManuelSteering M14X1,5-L=312mm

1603428

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
MERIVA (A) 2003-2010
OP-13163 OP-12161
Rot Mili Rotbasi
Onig On
M14x1,5-L=316mm M14x1,5
26110429 93192417
OP-11165 OP-11166
Rotil Rotil
On Sag On Sol
OP-10.167 D=@&16mm OP-10.168 D=16mm
5352026 5352025
OP-16167 OP-16168
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
93388569 93388568

MERIVA (B) 2010 after
| |
OP-16465N
Rotilsiz Salincak
On Sag Alt
_ 352030
MERIVA (B) 2010-2017
OP-16466 OP-16465
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
352029 352030
OP-12462 OP-12461
Rotbasi Rotbasi
On Sol On Sag
M14x1,5Rht M14x1,5Rht
1603289 1603288
OP-11405 OP-13233
Rotil Rot Mili
On On
D=@18mm (PRExcept) M14X1,5-L=233mm
352830 93196777

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land OPEL
MERIVA (B) 2010-2017
|
OP-13234 OP-20531
Rot Mili Salincak Burcu
On On Dig
(PRincluding) M14X1,5-L=233mm 352324
93196778
|
OP-14411 FT-20116
Z-Rot Salincak Burcu
On Onig
Only:MexicoType L=243mm 4566899 /
5236823
MONTEREY (A) 1992-1998
|
IS-11505 1S-12502
Rotil Rotbas! ®
On Ust On Dis
D=@17,5mm M14x1,5Lht
894472255 8944194091
|
IS-12501 1S-11517 f
Rotbasi Rotil
Onig On Alt
M14x1,5Rht 04459465
94419408
| |
OP-14949 OP-14950
Z-Rot Z-Rot
H On Sol On Sag H
) L=150mm L=150mm [
5352019 5352020
MONTEREY (B) 1998-2004
| |
OP-14950 OP-14949
Z-Rot Z-Rot
H_ On Sag On Sol H
[ L=150mm L=150mm )
5352020 5352019
| |
OP-12951 OP-11955 e,
‘? Rotbasi Rotil
< On On
. o M14x1.5 Only:DTI D=@17,6mm
) : 97184821 94374424

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

MONTEREY

(B)

OPEL

1998-2004

-

1998-2010

IS-11507 1S-11505
Rotil Rotil
On Alt On Ust
894450463 ~ D-917.5mm
894472255
(A)
OP-20518 NS-20388
Salincak Burcu Salincak Burcu
Ust Alt
82000024454 91603395
NS-20389 RN-13474KM
Salincak Burcu Rot Mili Kiti
On Alt g On
9160394 7701470362
RN-11475 RN-11476
Rotil Rotil
On Alt On
D=@22mm 4501261
7700312852
RN-11470 RN-12472
Rotil Rotbasi
On Ust On Sol
4401910 M16x1,5Rht
7701470363
RN-16478N  RN-16477N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
7700302118 7700302119
RN-16489 RN-16488
Rotilli Salincak Rotilli Salincak
On Sol On Sag
D=@24mm D=@24mm
93194853 93194855

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
MOVANO (A) 1998-2010
|
RN-16478 RN-16477
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
Ball Joint D=@22mm Ball Joint D=@22mm
7700302118 7700302119
| |
RN-11484K RN-11484
Rotil Kiti Rotil
On On Alt
D=@24mm D=@24mm
7701070154 7701070154
RN-14461 RN-14460
Z-Rot Z-Rot ®
k) 1)
On Sol On Sag er_""
L=127mm L=127mm 1
7700309070 7700309071 -
RN-12471 RN-13473
Rotbasi Rot Mili
On Sag On 1.__
M16x1 ,5Rhg: M16x1,5-L=176mm —
7701470364 7701470362

(B)

2010 after

RN-13493 RN-12491
Rot Mili Rotbasi
On On Sag
M18X1,5-L=253mm  M18X1,5
485212373R  485200780R
RN-12492 RN-11494
Rotbasi Rotil
On Sol On Sol Alt
M18X1,5  D=@17,9mm
485206730R 93197233
— RN-11497 RN-16498
Rotil Rotilsiz Salincak
On Sag Alt On Sag Alt
D=017.9mm 8500688875
401608374R

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

MOVANO

(B)

OPEL

2010 after

RN-16499 RN-14490
Rotilsiz Salincak Z-Rot
On Sol Alt On
93197214 ~ -=330mm
93197325
RN-14495 OP-20759
Z-Rot Salincak Burcu
Arka On Sol
L=166mm 200688875
93168675
OP-20760
Salincak Burcu
Onig
93197214
OMEGA (A) 1986-1994
OP-23607 OP-12601 _
Rot Takimi Rotbasi
A p—f-—ﬂl OnSag  OnsSagic
Year:OmegaB M14x1,5Rht
90334028 322178 S
OP-12602 OP-23608
. Rotbasi Rot Takimi
On Sol ig On Sol
o M14x1,5Rht Year:OmegaB
322177 90334027
OP-12603 OP-12604
Rotbasi Rotbasi
On Sag Dis On Sol
M14x1,5Rht M14x1,5Rht
322176 322175
OP-11605 OP-11606
Rotil Rotil
Sag On Sol Alt
D=@18mm D=@18mm
90272195 90272194

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
OMEGA (A) 1986-1994
|
OP-14610 OP-17628
Z-Rot Ara Rot
- - = On  On b é
- T L=230mm  L=572mm
90288270 90295625
| |
OP-20113
Salincak Burcu
OnDig
352355
OMEGA (B) 1994-2003
|
OP-20119 OP-20119A
Salincak Burcu Salincak Burcu
On Dis On Dis
90445565 90445565
OP-20118 OP-12604
Salincak Burcu Rotbasi
Onig On Sol
00299207 M14x1,5Rht
322175
OP-12603 OP-23608
. Rotbasi Rot Takimi
On Sag Di On Sol . '
-—A M14x?,g5Rh§t Year:(())megaB bﬂ_\ﬂ"'—{ﬁ&
322176 90334027
| |
_ OP-12602 OP-12601 _

s Rotbasi Rotbasi e
On Sol ig On Sag i
%@M M14x1,5Rht M14x1,5Rht M
. 322177 322178 -
| |
OP-23607 OP-14611

Rot Takimi Z-Rot
'_.\ On Sag On (
mﬂ}_{'ﬁd Year:Omeg:S L=224,5mm A,_P,L
90334028 90445137

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and OPEL
OMEGA (B) 1994-2003
|
OP-17638 OP-23617
Ara Rot Rot Takimi
oy Ao On On Sag N .
Only:2.3D,TD,2.4i L=607.5mm 3221:: Brgem &
90369125
|
OP-23618 OP-12621 N
Rot Takimi Rotbasi X
o : Onsol  Onsag
—=ld 3291 9(1 M14x€:g,l5Lht
90510651
|
_ OP-12622 OP-12623
[ H_ Rotbasi Rotbasi
@ On Sol On Sag
W M14x1,5Rht M14x1,5Lht
' 324062 324060
|
OP-12624 OP-16635
. Rotbasi Rotilli Salincak
w On Sol On Sag Alt
M14x1,5Rht 5352008
90473811
|
OP-16636 OP-16635N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
53520007 90576789
|
OP-16636N OP-11405 &
Rotilsiz Salincak Rotil
On Sol Alt On
90576788 ~ D=918mm
352830

RECORD (C) 1966-1971
| .|
OP-11662
= Rotil
On Alt
352811

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 33 info@parsrot.com



—
sy L and

OPEL

RECORD

(D)

1972-1977

g—, OP-11704 OP-11703
| 281 Roti Roi i1
2 OnAlt  On
Ch.No61161024> D=@17mm 4, 0. @
e 352820 Q
OP-12702 OP-12701
- Rotbasi Rotbasi -
- On Sag On Sol W
@-—m— M14x1,5Rht M14x1,5Lht m‘"“_‘@
324113 324112

RECORD (E) 1977-1986
| |
OP-14810 OP-11803 -
ZRot  Roti f
- 4 On On ’
L=195mm 35081 ‘
902365577
| |
OP-12802 OP-12801
. Rotbasi Rotbasi .
g‘ J Onig On Dis @ J
promemmrd M14x1,5Lht M14x1,5Rht oo
324117 324118
| |
OP-20123
Z-Rot
On
3501515
RECORD (A-C) 1963-1965
| |
OP-20123M
Z-Rot
On
3521515
SENATOR (B) 1986-1994
| |
OP-17628
Ara Rot
.‘\_" * Bu belgede kullanilan arag marka, model Iogo,r(])EM numaralari, vb. bilgiler referans amagli kullanilmistir.
L=E72mm

parsrot.com

34
90295625

info@parsrot.com



Rot sy

mw Land OPEL
SENATOR (B) 1986-1994
OP-23607 OP-12601
Rot Takimi Rotbasi
T ,__,_—-“1 On Sag On Sag i¢
—— 7 Year:OmegaB M14x1,5Rht
90334028 322178
|
_ OP-12602 OP-23608
Rotbasi Rot Takimi
On Sol ig On Sol
M14x1,5Rht Year:OmegaB
1 it )
322177 90334027
OP-12604 OP-11605
Rotbasi Rotil
On Sol Sag
M14x1,5Rht D=@18mm
322175 90272195
|
OP-14610 OP-11606
Z-Rot Rotil
- - On  OnSol Alt
- T L=230mm D=@18mm
90288270 90272194

SIGNUM

L

A Nt
o 1. e

FT-20116 FT-20391
Salincak Burcu Salincak Burcu
Onig On Sag Altig
4566899 93171448
OP-13473 OP-12472
Rot Mili Rotbasi
Onig On Sol
M14x1,5-L=284mm M14x1,5Rht
93172256 5239314
OP-12471 OP-13473K
Rotbasi Rot Mili Kiti
On Sag On
M14x1,5Rht 93172256
5239322

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
SIGNUM 2003-2008
|
OP-14470 OP-18400
Z-Rot Salincak Tamir Kiti
On On
L=352,5mm 8:%8-2%5177/0-471 -0-472/0-4732AD/
51741130
OP-16477 OP-16476
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
352051 352052
SINTRA 1996-1999
|
OP-11154
Rotil
On Alt
88965333
(A) 1988-1995
|
OP-14408 OP-14409
Z-Rot Z-Rot ‘
On On ’ |
D=@17mm-L=83.5mm D=@21mm-L=84mm g2, “'
90278577 90278586
|
OP-16425N OP-14410
Rotilsiz Salincak Z-Rot
On Sag Alt On
352192 WithSilentBlock L=85mm
90495045
OP-12401 OP-12402
Rotbas! Rotbasi 53/
On Sag On Sol
M16x2Lht M16x2Rht
90373520 90373519
OP-16425 OP-16426
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
352192 352193

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land OPEL
VECTRA (A) 1988-1995
|
OP-16426N OP-11105 -
— Rotilsiz Salincak Rotil
On Sol Alt On Alt
352193 1603167

(B)

1996-2002

M
7\
i
F |
r

A
0

OP-11405 OP-16446
Rotil Rotilli Salincak
On On Sol Alt
D=218mm 90496039
352830
OP-16445 OP-19440
Rotilli Salincak Denge Kolu
On Sag Alt Arka Alt
90496040 90538444
OP-13442 OP-13443
Rot Mili Rot Mili
On On
Only:ZFSteering M14x1,5-L=344mm ﬁql&?:&)ﬁi@g&%ﬁ%ing
324186 1603199
OP-12441 OP-16445N
Rotbasi Rotilsiz Salincak
On On Sag Alt
M14x1,5Rht 00496040
90512775
OP-16446N OP-444
Rotilsiz Salincak Denge Kolu Burcu
On Sol Alt Arka
90496039 90496700
OP-20340 OP-20341
Salincak Burcu Salincak Burcu
On Arka
5402630 5402631

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

VECTRA

VECTRA

(B)

OP-20342 FT-20116
Salincak Burcu Salincak Burcu
Arka Onig
9191309 4566899
OP-20117 OP-14411

Salincak Burcu Z-Rot
OnDig On
352365 Only:MexicoType L=243mm
5236823
(C)
OP-14479 FT-20116
Z-Rot Salincak Burcu
Arka Onig
444275 4566899
OP-16476 OP-16477
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
352052 352051
OP-18400 OP-14470
Salincak Tamir Kiti Z-Rot
On On
0-476-0-477/0-471 '0'472/%f14773§ﬁ\% L=352,5mm
51741130
OP-13473K OP-12471
Rot Mili Kiti Rotbasi
On On Sag
03172256 M14x1,5Rht
5239322
OP-12472 OP-13473
Rotbasi Rot Mili
On Sol Onig
M14x1,5Rht M14x1,5-L=284mm
5239314 93172256

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

OPEL

1996-2002

2002-2008

@

parsrot.com

info@parsrot.com



—
sy L and

VECTRA

(C)

VECTRA-CALIBRA

OPEL

2002-2008

FT-20391 OP-474
Salincak Burcu Denge Kolu Burcu
On Sag Altig Arka
93171448 423008
OP-14460 OP-19478
Z-Rot Denge Kolu
On Arka Ust
(IDS) L=353mm 423008
350612
OP-13475
Rot Mili
On
Only:16,17ingJant M14x1,5-L=285mm
1603416
(A) 1988-1995
OP-20387A OP-20387
Salincak Burcu Salincak Burcu
Onig Onig
90495046 352348
OP-20344 OP-20564
Salincak Burcu Salincak Burcu
Arka On
90305431 90189050
OP-20115 DW-20124
Salincak Burcu Salincak Burcu
OnDis On Sag Altig
90268463 353460
OP-20114
Salincak Burcu
Onig
90288232

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

39

info@parsrot.com



—
sy L and

VIVARO

NS-20579 NS-20578
Salincak Burcu Salincak Burcu
On Sag i Orta
545006069R 545006069R
RN-13654KM RN-11656
Rot Mili Kiti Rotil
On On Alt
7701473333 912mm
7701477385
RN-16661N RN-16660N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
93853465 8200054003
RN-16659N RN-16662
Rotilsiz Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8200054006 8200565072
RN-16661 RN-16660
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8200565079 8200054003
RN-16659 RN-12652
Rotilli Salincak Rotbasi
On Sag Alt On Sol
8200054006  M14x1,5Rht
7701049282
RN-11655 RN-12651
Rotil Rotbasi
On Alt On Sag
7701476576 M14x1,5Rnt
7701049283

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

OPEL

2001-2014

parsrot.com

info@parsrot.com



—
sy L and

VIVARO

ZAFIRA

OPEL
]| 2014-2018
|
RN-12651 RN-13654
Rotbasi Rot Mili
On sag On Lt E——
M14x1,5Rht M14x1,5-L=263mm
7701049283 7701473333
|
RN-12652 RN-14620
Rotbasi Z-Rot
On Sol On *____?
M14x1,5Rht L=279mm
7701049282 546181944R
|
RN-11165 RN-16168
Rotil Rotilli Salincak
On On Sag
545019956R 545006069R
RN-16169 RN-13654KM
Rotilli Salincak Rot Mili Kiti
On Sol On
545019956R 7701473333
NS-20579
Salincak Burcu
On Sag i
545006069R
(A) 1998-2004
|
OP-16445 OP-12451A
Rotilli Salincak Rotbasi =
On Sag Alt On -
90 4::0 40 Only:TrwSteering M14x1,5Rht i&'"—-’""
1603215
|
OP-14450 OP-16446
Z-Rot Rotilli Salincak
On On Sol Alt
Plastic L=300mm 00496039
90498745

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

a1

info@parsrot.com



Rot sy

mw Land OPEL
ZAFIRA (A) 1998-2004
OP-14450A OP-11405
N Z-Rot Rotil
6 on
MetalType D=@18mm
- 90498745 352830
|
OP-13452 OP-12451
Rot Mili Rotbasi
———— On On
TrwSteering M14x1,5-L=280mm Only:DelphiSteering M14x1,5Rht
9118128 1603214
B (A05) 2005-2011
|
< OP-11405 OP-14450A
i Rotil Z-Rot N
On On & \
D=@18mm MetalType
352830 90498745
| |
OP-12461 OP-13463K
- Rotbasi Rot Mili Kiti N
m\ ' On Sag On \
M14x1,5Rht 93189669
1603288
| |
OP-13463 OP-14450
Rot Mili Z-Rot
_. On On %
OnIy:ZF-SteeringeSerEoM%;ﬁ).gﬁ_,lgi%:r\‘/qvmh Plastic L=300mm
93181230 90498745
| |
OP-12462 OP-16465
- Rotbasi Rotilli Salincak
@‘ / OnSol  OnSag Alt
M14x1,5Rht 352030
1603289
| |
OP-16466 OP-16465N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
352029 352030

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land OPEL
ZAFIRA B ( A05) 2005-2011
|
OP-13464 OP-20531
Rot Mili Salincak Burcu
M On On Dis
Only Trptasingl S8k 352324
93186330
|
FT-20116
Salincak Burcu
Onig
4566899
ZAFIRA C(P12) 2011 after
| |
OP-14517 OP-12511
Z-Rot Rotbasi =
On On
C13219141 13286686
OP-14516 OP-13493
Z-Rot Rot Mili
On On
350618 M16X1,5-L=310mm
1609184
OP-16498 OP-16499
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol
352550 352549

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

43

info@parsrot.com






